

## Where Will You Go with A&K in 2011?

Abercrombie & Kent has an immense array of journeys for 2011, offering the signature benefits of A&K travel: insider access, Tour Directors who travel with you, around-the-clock support and itineraries designed to seamlessly blend the best features of your destination. All 2011 Discovery, Connoisseurs and Family departures are guaranteed to operate.

We have 58 programs priced under \$6,000 per person and 67 programs that are 10 days or less – ideal for anyone who has limited vacation time.

To help you decide which type of trip is right for you, we have included the chart below that gives you an overview of both our group escorted and private journeys. Your most difficult decision is certain to be which great destination to choose next.

#### **GROUP ESCORTED JOURNEYS**

An A&K Tour Director accompanies every group journey.

	MAXIMUM GROUP SIZE	AVERAGE # OF DAYS	SIGHTSEEING & GUIDES	accommodations
DISCOVERY SERIES  A shorter journey encompassing the essential sites	24	10-12	Comprehensive escorted with an A&K Tour Director, featuring destination highlights	Five-star or best available; standard rooms (upgrades available)
CONNOISSEURS SERIES  The ultimate group escorted travel experience	16	14-16	Comprehensive escorted with an A&K Tour Director, featuring both highlights and less-visited sites	Five-star or best available; premium rooms
FAMILY SERIES Fun and educational journeys for all ages	24	10-12	Comprehensive escorted with an A&K Tour Director, featuring age-appropriate sightseeing and activities	Five-star or best available; standard rooms (upgrades available); family-friendly

### **PRIVATE JOURNEYS**

All journeys include private local guides.

	GROUP SIZE	AVERAGE # OF DAYS	SIGHTSEEING & GUIDES	ACCOMMODATIONS
SIGNATURE SERIES®  The perfect independent journey, ready to book	ldeal for 2-4	10-12	Private locally guided sightseeing	Flexibility to choose either four- or five-star hotels
TAILOR MADE  Private travel customized to your interests	Any	Custom	Private locally guided sightseeing	Your choice of any four- or five-star hotels, camps and lodges



## A&K's 2011 Escorted and Independent Journeys

ORIENT/INDIA/AUSTRALIA		FROM	DAYS	DIEM	PROGRAMS	SERIES	FROM	DAYS	PER DIEM
					EUROPE				
Signature Indochina	S	\$6,875	16	\$430	From Flamenco to Fado	D	\$5,945	11	\$540
Highlights of China	D	\$5,475	12	\$456	A Storybook Adventure	F	\$5,470	10	\$547
Wonders of Imperial China	С	\$6,595	14	\$471	Adriatic Gems	D	\$6,100	11	\$555
Signature Thailand & Cambodia	S	\$6,140	13	\$472	Signature Croatia	S	\$4,500	8	\$563
Yangzi Passage	С	\$7,795	16	\$487	Italian Treasures	D	\$5,715	10	\$572
Signature China	S	\$6,995	14	\$500	Turkey: A Cultural Adventure	F	\$6,310	11	\$574
Images of Indochina	С	\$6,095	12	\$508	Signature Eastern Europe	S	\$6,860	11	\$624
Essence of India	С	\$7,855	15	\$524	Signature Waterways of the Czars	S	\$8,170	13	\$628
Treasures of Northern India	D	\$6,825	13	\$525	Signature Russia	S	\$6,655	10	\$666
Gateway to the Himalayas	С	\$5,785	11	\$526	Cultural Capitals	D	\$6,945	10	\$695
Signature India	S	\$6,530	12	\$544	Signature Italy	S	\$7,940	11	\$722
Spirit & Spice of India	С	\$7,285	13	\$560	Italy: Emperors & Artists	F	\$6,625	9	\$736
Outback Adventure	F	\$6,295	10	\$630	Turkey: Journey through History	С	\$9,975	13	\$767
Signature Myanmar	S	\$8,595	13	\$661	Signature France	S	\$6,300	8	\$788
Australia: Land of Contrasts	С	\$11,375	15	\$758	A Tale of Three Cities	С	\$8,130	10	\$813
Land of the Rising Sun	F	\$8,500	11	\$773	Signature Greece	S	\$7,495	9	\$833
Classic Japan	С	\$8,995	11	\$818	Signature Spain	S	\$8,340	10	\$834
Signature Australia	S	\$10,915	12	\$910	Signature Turkey	S	\$9,325	11	\$848
SOUTH AMERICA					Signature London & Paris	S	\$7,165	8	\$896
Highlights of Costa Rica	D	\$3,120	8	\$390	EAST AFRICA				
Costa Rica: Rainforests & Volcanoes	F	\$2,990	7	\$427	Signature Ethiopia	S	\$5,495	12	\$458
Signature Ecuador	S	\$4,155	9	\$462	Snows of Kilimanjaro	D	\$5,340	11	\$485
Signature Argentina	S	\$5,825	12	\$485	Kenya Wildlife Discovery	D	\$5,440	10	\$544
Signature Chile	S	\$5,995	12	\$500	Kenya Family Safari	F	\$5,995	11	\$545
Signature Mexico	S	\$4,680	9	\$520	Tanzania Wildlife Discovery	D	\$5,650	10	\$565
Wonders of Chile, Argentina & Brazil	D	\$7,995	14	\$571	East Africa Wildlife Discovery	D	\$7,980	14	\$570
Signature Peru	S	\$4,770	8	\$596	Tanzania Family Safari	F	\$6,285	10	\$629
Signature Amazon and Colca Canyon	S	\$6,395	10	\$640	Wings Over Tanzania	С	\$7,325	10	\$733
Wonders of the Galápagos	D	\$7,160	11	\$651	Tanzania Hemingway	С	\$8,895	12	\$741
The Galápagos Family Adventure	F	\$7,160	11	\$651	Signature Kenya	S	\$8,730	11	\$794
Machu Picchu & Beyond	С	\$5,995	9	\$666	Wings Over Kenya	С	\$8,775	11	\$798
Signature Peru & Galápagos	S	\$10,940	16	\$684	Signature East Africa	S	\$10,575	13	\$813
Wonders of Peru & the Galápagos	D	\$11,195	16	\$700	Wings Over the Migration	С	\$12,965	15	\$864
Peru and the Galápagos Family Adventure	F	\$11,195	16	\$700	Signature Tanzania	S	\$10,695	12	\$891
Patagonia: A Luxury Adventure	С	\$10,980	14	\$784	East African Hemingway	С	\$13,375	14	\$955
NORTH AMERICA					SOUTHERN AFRICA				
Labyrinth Canyon Kayaking Adventure	D	\$1,995	6	\$333	Signature Zambia	S	\$5,520	12	\$460
Majestic Canyons River Rafting	F	\$2,100	6	\$350	Signature Namibia	S	\$5,475	10	\$548
Cataract Canyon River Rafting	D	\$2,540	6	\$423	Southern Africa Revealed		\$6,110	11	\$555
Lewis & Clark Montana Adventure	F	\$3,600	8	\$450	Signature South Africa	S	\$7,995	12	\$666
Signature British Columbia	S	\$6,710	9	\$746	Signature Botswana		\$8,495	12	\$708
Alaska Backcountry	D	\$6,900	8	\$863	Southern Africa in Style	С	\$10,120	14	\$723
Alaska: Nature's Playground	F	\$7,180	8	\$898	Wings Over Botswana		\$8,915	12	\$743
Signature California Wine Country	S	\$5,995	6	\$999	Under South African Skies	С	\$10,095	13	\$777

PROGRAMS	TRIP SERIES	PRICED FROM	# OF DAYS	PER DIEM			
MIDDLE EAST							
Signature Jordan	S	\$3,595	8	\$449			
Signature Syria	S	\$4,520	10	\$452			
Egypt Unveiled	D	\$5,165	11	\$470			
Mysteries of Morocco	F	\$4,700	10	\$470			
Israel: Ancient Icons for All Ages	F	\$4,755	10	\$476			
Splendors of Morocco	С	\$5,810	12	\$484			
Jordan & Egypt: Sands of Time	D	\$5,995	12	\$500			
Signature Egypt	S	\$5,135	10	\$514			
Pyramids, Mummies & Temples	F	\$4,670	9	\$519			
Ancient Wonders: Israel, Jordan & Egypt	D	\$6,995	13	\$538			
Images of Egypt & Kenya	D	\$8,475	15	\$565			
Israel: Crossroads of History	D	\$5,195	9	\$577			
Signature Morocco	S	\$5,410	9	\$601			
Signature Jordan & Israel	S	\$6,665	11	\$606			
Splendors of the Nile	С	\$6,870	11	\$625			
Pharaohs & Pyramids	С	\$8,830	14	\$631			
Signature Israel	S	\$5,840	9	\$649			
ANTARCTICA							
Classic Antarctica		\$8,895	14	\$635			
Antarctica, Falklands and South Georgia		\$13,995	20	\$700			



### Abercrombie & Kent / EXTREME ADVENTURES

Join an Extreme Adventure expedition or add an Extreme Adventure Extension to your A&K vacation. Visit akextremeadventures.com for our full range of programs — 30 adventures that take thrill-seekers to the most demanding locations on earth for the challenge of a lifetime.

PROGRAMS	PRICED FROM	# OF DAYS	PER DIEM
CANAL & RIVER CRUISING			
M/V 'River Cloud II'	\$2,375	8	\$297
'Caprice'	\$2,690	7	\$384
'Lorraine'	\$2,790	7	\$399
'Le Phénicien'	\$3,390	7	\$484
'Scottish Highlander'	\$3,590	7	\$513
'Shannon Princess II'	\$3,700	7	\$529
'Marjorie II'	\$3,900	7	\$557
'Magna Carta'	\$3,990	7	\$570
'L'Art de Vivre'	\$3,990	7	\$570
'Saint Louis'	\$4,189	7	\$598
'Anjodi'	\$4,190	7	\$599
'Saroche'	\$4,200	7	\$600
'Elisabeth'	\$4,500	7	\$643
'La Belle Époque'	\$4,550	7	\$650
'L'Impressionniste'	\$4,550	7	\$650
'Meanderer'	\$4,600	7	\$657
'Hirondelle'	\$5,000	7	\$714
'Enchanté'	\$5,300	7	\$757
'Napoléon'	\$5,600	7	\$800
'Renaissance'	\$5,690	7	\$813
'La Nouvelle Etoile'	\$6,150	7	\$879
'Amaryllis'	\$10,000	7	\$1,429
'Alouette' (charter only)	\$25,450	7	\$3,636
'Roi Soleil' (charter only)	\$33,900	7	\$4,843
'Prospérité' (charter only)	\$39,900	7	\$5,700
'Fleur de Lys' (charter only)	\$47,400	7	\$6,771



#### JOURNEYS FOR WOMEN

Abercrombie & Kent's 2011 Journeys for Women offer an opportunity to discover the world's most remarkable destinations in the company of other women. Experience sightseeing and activities presented from a woman's perspective, with journeys featuring prominent women guides and guest speakers. For more information about these journeys, visit abercrombiekent.com.

Contact your travel professional or visit abercrombiekent.com for more information about our 2011 programs.

Prices quoted are per person, double occupancy and are subject to change Airfare is additional. Other restrictions may apply.

# Abercrombie & Kent